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Run 4568 triggerwise, sums: All

Enirizs: 4099285

Mlzan: 4074.2009 4 1. 9179

Std Dew: 38510778 ++ 1,358z
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Run 4568 triggerwise, sums: Beam ON, Laser ON

—— Helicity==0
— Helicity==

T32661

Eniries
Maan: 5174.7803 +

5.7mEd

5id Dew: 514575045 + 4.0B4E

Eniries: 791914

Maan: S177.8474 4 5. TEFE

Sed Dew: 51429310 4= 4.0B81
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Run 4568 triggerwise, sums: Beam OFF

[h mer,

h—l-.hl|I.-|I|III|II-.I.-.|III.—.|I—.II|Id:|||.—.|||

Endrizs: 1073

Mzan: 1413.7988 4 47,1385

Bid D 15453463 +- 33,3305
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sum

Run 4568 triggerwise, sums: Beam ON, Laser OFF
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— Helicity==0
— Helicity==

Enviries: 1238588

Maan: T1E0.94596 4+ 23033

Sed Dwrw: 25859828 4+~ 16329
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